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M| E Dt 2,797,701 769,224 2,028,477

& 624,000
Al 2,173,701
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Jl2al 72,240 58,886 13,354
(H=))|=22AY| 72,240 58,886 13,354
201 29| 35,580 32,606 2,974
01 At 2teldl 35,580 31,106 4,474
Qllz=gRseas Al 11,366, 000& 11,366
OYRE=XEY A2 6,150
OUXEEAI =8 L JIELX 6,150
-£8 |UE 600,000& * 24 * 13 1,200
-E4Y 165,000& * 501 = 63 4,950
OAUELRTHENN 6,400
OgREIAM 10,000& * 1005 * 43| 4,000
OYE2E2 DM (2=Al) 6,000&8 = 1002 * 43| 2,400
OJI=ZHI(S&l)
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202 GiHl 29,160 22,080 7,080
01 2L I 29,160 22,080 7,080
©J|1=&l 20,000& * 27 = 90 * 60% 29,160
203 R =&yl 7,500 4,200 3,300
01 J|2E2g e R =&l 3,300 0 3,300
QJIEEH= 3,300
o= 3,300,000& 3,300
04 22D ERFEHI 4,200 4,200 0
©JI= (3001035t &) 350,000& = 12& 4,200
olE=2dg| 296,238 2,882 293,356
(HF)RIAHA2 2 1A 258,000 0 258,000
101 @141l 258,000 0 258,000
0B RIHLZ =2+ 258,000 0 258,000
OEZS(28 2 Agd) 258,000
(O = 3=ka EN 153,000,000& » 14 153,000
ODneoljers= 105,000,000 * 1Y 105,000
(&ZF)oi2yl 38,238 2,882 35,356
101 el24d| 38,238 2,882 35,356
02 JIEt& B = 3,971 2,882 1,089
OAN2UAZRLH (A SHEH)
9,692& * 28A|2F * 12& 3,257
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03 RIIAL22RES 34,267 0 34,267
oHINR 34,267
ol (ta) 22,240
-13& &t 22,240,0008 * 1Y 22,240
OES= 3,307
EaY 1,440
b < X 40,0008 = 19 = 12@ 480
=H|= 20,0008 * 4% * 128 960
-Cixtag 25,390,000 / 3652 x 2L 835
-AI2E2l =D 210AI2H)
86,0008 » 12& 1,032
OYEEIII 1,120,000 * 23 2,240
O3l 120,000 « 12& 1,440
ONEH| 120,000 « 12& 1,440
OJFAI X 2l 115,000 « 12 1,380
Oo=2z4+4 185,000 + 12& 2,220
ANES g 235 ' 2,388,983 695,896 1,693,087
Z 624,000
Al 1,764,983
ARIEOIH 29 148,376 144,576 3,800
(BF)320/® ottt 29 4,176 3,176 1,000
201 Ler2 9| 4,176 3,176 1,000
01 AL 22| Yl 3,000 2,000 1,000
OZ2L0|HMBIL 2N (EB)
30,0002 * 100% 3,000
03 B A2 H 1,176 1,176 0
O30T I S Al
6,000 » 49 « 43 1,176
(BN RRAE 2Y 144,200 141,400 2,800
201 Yer2 | 140,800 138,000 2,800
01 AL 22| 140,800 138,000 2,800
O9Ads Ao (790 |A23) 140,800
oJlez 70,0008 = 700 « 23] 98,000
oxntz 30,0002 = 7009 13 21,000
O&l b2t 200,0008 » 209 * 53 20,000
Ogel 449 30,0008 » 20 33 1,800
301 Lt A2 3,400 3,400 0
09 SHALAHI BA2 3,400 3,400 0
OANAE HHEZ3 FHOX 24 3,400
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= 624,000
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OLEYR+HEDA 4,000
OANZHR=ED 4,000
-&J| 10,000& = 1008 * 23] 2,000
&= Al 10,0008 * 1002 23 2,000
OARZZ BT L FALA 42,600
OANFEEA HT 10,0008 = 1,500% 15,000
O &I M= 15,0008 » 700% 10,500
OANZEHA M= 25,0003 * 200= 5,000
OAZHI =LA 5,000,000& = 1% 5,000
ONFE2D 2 SANE HL(2DN R9)
10,000& = 705 * 33 2,100
OAMBEDA ZHE(PPT)  1,000,000& + 3% 3,000
OSEA JI=28& M A
10,000& * 2005 2,000
OFLYFHE EIA
10,0008 = 100% = 32 3,000
203 YR =] 5,000 3,000 2,000
03 AIM =2 R =AY 5,000 3,000 2,000
oJlage =d 5,000,000 5,000
405 THabF = 4,600 0 4,600
01 LAt 2S5 SHI 4,600 0 4,600
0sgszo ¥ 22 “ES(UH)
1,300,0008 = 1CH 1,300
OXBLINLAE PC & 2LIH
3,300,000& = 104 3,300
(BF)83d7 - g 856,086 223,732 632,354
101 el 248l 11,872 0 11,872
0401222 UHSES 11,872 0 11,872
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O EIH| 200,008 * 23] 400
201 Yer2 | 43,990 46,260 £2,270
01 AL 22/t 33,590 46,260 ~12,670
ONEANRL 22U 3,520
OOHIHE 22l 200,0008 * 128 2,400
OAREEH| 50,0008 * 122 600
ouzzsz 15,0008 * 2& + 128 360
OF7E Al 20,0008 * 2% * 43| 160
ONAME 22 3% Y (HEFHAT
&) 1,500,008 * 13| 1,500
0™ BB =HPY
7,008 * 60 * 122 5,040
OCIZE NEEEEE M= 8,000, 0002 8,000
ONT=2IY KB M 1,000,008 * 83l 8,000
©2= CIXQ 0I0INZ ABE
1,430,0009 * 14 1,430
OUNIQIHE ATES0 ASE
1,500,000% * 14 1,500
oUXFE EE 7Y 1,600,000 1,600
OHZE 3.0 2 NP U AUSZE YA 3,000
OEEg MR 10,0002 * 3005 3,000
02 BBl 2,400 0 2,400
OIS MBE(HSAIRA)
10,0002 * 2CH * 128 2,400
03 A2 | 8,000 0 8,000
OFZE 3.0 B0 (2RY, UAN2E) AL
1,000,008 * 83l 8,000
202 01t 15,564 17,472 £1,908
01 2UHoi bl 15,564 17,472 ~1,908
ONEANRL LRFZ oftl 15,564
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OLH 20,0008 * 2% * 142 » 128 = 0% 5,376
203 R FT Y| 12,000 10,000 2,000
03 ARETY 2R 12,000 10,000 2,000
ONEANRA XX 12,000,00024 12,000
207 1PN LHI 710,000 150,000 560,000
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303 Zaf= 31,560 0 31,560
01 2= 31,560 0 31,560
OMZ2AH &= FHL 238
42,0008 = 80 11,360
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S 2,200
Ol 1,000,000& = 13 1,000
OF=15 500,000& * 18 500
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OsSSs¢dAIE £9 30,000,000& 30,000
405 THaHF =Y 1,100 0 1,100
01 XHatL 223 S| 1,100 0 1,100
OMSAR2 20l dZ2lE(Zet) 1,100,000 1,100
HY )R 93,870 168,880 275,010
201 gere gl 20,070 75,880 155,810
01 At 22l bl 20,070 55,880 A35,810
OZFIIE BIONE RMAE(RI1F &HY) o
= 10,800
OHIMNPZTANZHZ Ol & &2 2,700
O3 AANY N2HB2 FHe+g
70,0008 *10E *13] 700
OEEZS(8=+) MA oo 5,870
Olgs=o 2,700
OagdE+ 1,440
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202 048l 2,700 3,000 2300
01 =W oibI 2,700 3,000 2300
©J18gR otz 2,700
203 YR bl 27,000 30,000 A3,000
03 A=A YR =AY 27,000 30,000 23,000
OJIEEELRFAH ojarE 9,000
OB AR AR Al Ofl&tEZ 18,000
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303 ZA2 4,100 0 4,100
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OB=CSEOOICION BOL A& (TS, A8) 1,700
oz e 500, 0002 *17H 500
O+ 300, 000! *24 600
Oz 200, 0002 *37H 600
OH=CSEO0ICIO 242A A4
200, 0002 *27H = 400
O=ZROL0ICIO QIMEIE R0 2,000
O&#ILS0L0ICIO ot 25aEn
20,000 #4024 800
OO0OICIOf MBS 25aER
50,0008 <24 1,200
306 012 20,000 0 20,000
NEEE] 20,000 0 20,000
OE=LNAIA 53 20,000
(BR)EZALADE SV ehat 10,000 30,000 £A20,000
802 Bt2+2I|El 10,000 30,000 20,000
03 HH3S 10,000 30,000 £A20,000
OZHA+ATIY 32 a3 10,000
(BF)MEUE 28 100212 =4Ae 397,000 0 397,000
2 357,000
Al 40,000
403 XHXIEHH SXHE0I A 397,000 0 397,000
= 357,000
Al 40,000
02 BIIZS OIS THE AL ] 397,000 0 397,000
ONZUHEEYZE 100212 ZAAY
397,000, 0008 397,000
2 357,000
Al 40,000
(HBeOMEUE 2 100212 =4Ar 297,000 0 297,000
z 267,000
A 30,000
403 XHXIEHH SAHE0I 297,000 0 297,000
2 267,000
A 30,000
02 21 2+S Ol CH 8 CH 8 A2t Bl 297,000 0 297,000
OHSUE 100212 ZEAY 14 297,000
2 267,000
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201 LEr2HH] 3,816 3,816
01 At 221 3,816 3,816
ORHAR NHUIIIAARS] &AL
70,0002 8% 560
OURHIIARE AMAILE 70,0008 x24 1,680
©'13 NHHTI ZUEDN S0 olarE2 1,576
303 Za2 13,600 13,600
01 ZA2 13,600 13,600
ONHEI RERANITA 2,700
Ozl 1,000,000 =142 A 1,000
oR=% 700,0002 1 A 700
O 500, 000 +2J1 £ A 1,000
OXNEHE QLIALA 300,000 x3H 900
OFREESHI 248A A4t
500, 000 x20 A| 24 10,000
(BoHEul2H 29 6,075 6,075
01 YEr2HH| 6,075 6,075
01 At 22| 6,075 6,075
ONMI2CH 239 EHALG OAR2 1,575
OXRHII2Z AR 4,500
(B2)=QA2H 8 £+ 10,080 10,080
201 2 B2 9 10,080 10,080
01 AFR 22/ HI 10,080 10,080
OZ=QAPHE W S0 GarEZY 5,400
OZQUSHE 238D NH2R0 A2 1,080
OZQARHE QA IA L2F GArEZ 3,600
(H2ESFHZAl ARS(Cl) N 100,000 100,000
308 XX EHHI S0I A 100,000 100,000
05 XX R R E 2 100,000 100,000
SEEEIZA AAES(Cl) N (2HI50%, Al
50%) 100,000
(H)ESEFTA HII2A HIHE WY 150,000 150,000
308 XX SHSO0IH 150,000 150,000
05 AXISHH2 2SS 150,000 150,000
OESHTA HIILHHIE £ (24l 50%, Al
| 50%) 150,000
(H2)ESHZAl HI22D| PPt BAE 6,000 6,000
201 et 9| 2,000 2,000
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O =M= 100
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ogxEis s 5,0008 «250% 1,250
OJlE ANTH=E Y 90
303 Z&a=3 4,000 4,000
01 Z&= 4,000 4,000
(COEZS= 4,000
Ozle=+(1¢) 2,000
O==(18) 1,000
oz (2¢) 1,000
(F&)3E3.0 12,150 12,150
201 ZerE gl 7,650 7,650
01 At 22l | 7,650 7,650
O&J3.0 W= 7,650
OEAE 300,000& »5& 1,500
CUsEXZE Ko oaEZ 3,600
ORIESH M otz 850
Os=22 M& ooz 1,700
301 et ds 4,500 4,500
HIlEEd=s 4,500 4,500
OF 3.0 FTLM UAB2 A& 4,500
Ozle=+(1¢) 2,000
Oo==(1g) 1,500
oz (2¢) 1,000
(H)Eax 9N g2t 101,400 101,400
201 ¢Er2 Yl 1,400 1,400
01 At 22l bl 1,400 1,400
O'HH A" E 1 HAxY
70,0008 x 10 %23 1,400
207 A el 100,000 100,000
01 2E4 100,000 100,000
O'HY 69 A L2t HFZAH|(Z8]100%) 100,000
(B )HS=H 12,000 12,000
201 2Et= gl 4,000 4,000
01 AtF 22l 4,000 4,000
OUI=EM S=XME 4,000
o= Mz 300,000& 104 3,000
ONZHl 1,000
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OBIARLA NFAS H2IZD 20N R
12,0002 * 2002 * 23l 4,800
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6,008 * 80% * 128 5,760
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03 A2 b 5,000 0 5,000
OoFHl ZF X014+ BHI
5,000,002 * 1] 5,000
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03 ANHETAREZY| 4,000 0 4,000
0osgRET HEY| 4,000,0002! 4,000
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NIEEEET] 9,000 0 9,000
0T 2H FOUAAEZA B9
9,000,002 * 13| 9,000
304 HBREIS 26,400 26,400 0
CEERLEEE 26,400 0 26,400
CNEEEEER T 26,400
ONBHE oIt HOH 2 X2
13,200,000& * 2% 26,400

(HF:)AMNs =2 54,778 0 54,778
201 YEr2 bl 45,000 0 45,000
01 Ak 22l bl 30,000 0 30,000

ORMIMNE e A L AUS2E M2 30,000
OsEs8 M MH 10,0002 * 3,000% 30,000
03 A2 ] 15,000 0 15,000
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3,000,008 * 53] 15,000
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01 ZUotb| 9,778 0 9,778
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